1994 E58 3 3 FEE R « 57 e

SRR P B T Y A AR SR

s

L

Ghw&FFry

o

% 100026)
’ l
B OE AT 1987 ML T AL RIFARIE D, A S R A B 5
WRATHE X R TR F Dantaig — Wofe 85 BSTH: .
XA SHNE SR WL

§1 AT BEA

B TR SR R m] A

MaIZ = (Clyxz) + <c2) IZ) + "re + (Cu’ I,.)
B,.Z,‘, <bl

Bzxz < b,

B.x, <59,
Alxl + AzIz + b + A"I,‘ < b

I]}O, 1'220’ """ ’xn;:o

XE B BREE
bi%mj $3|F R
bR m 45 &
By R m; X n; iiEHE
A Rm X oo, BB

® FX 199448 A 18 AirH.



. 55 B BLUHFREETHFNT B E

C; %"j i’fiﬁﬁﬂﬁ

EX LT FRERVERRIBR A LR R (D) e A TR
MaxZ, = (c;,x;)

Bz, < (2)
.zr,v> 0
1 Z, b .
iZ.E. Bi = (b ) ‘%a(') = (bu ’ uz)v """ ’bj(:) k= 1,2, ,mi,
] =1,2,- Sty

a“+‘—.—(0 O,c, '—-1‘0,..-‘0) g=192|'"9n.‘&ﬁﬁ a‘(i): ([: 1»27"'vm;+
n;)
2 D = x| Bx, < b,x; = 0)

WEEATFEA2) R R e WL H e = Zx“ G A 20,k =1,2,,m,

(!1%121“'75 ‘)L (1‘4_,""9/n, +Ili)
ki VLL;'ﬁf?i}] GRLOEGKNO.#Z WS =GK N D EETHUQ SENRE.
B FEEAERLRI I (3)

MazxZ, = (¢,,x;) + (¢;yx;) + -+ + (c,,1,)

Bz, < b
B,z, < b,
B.X, <&,

I)}Ov 1'2>O’ """ ,.1‘,,>O

BAKERWRBE O RERE -HAR Az, + Ay, + o + Az, <OLEH 4
LAEF IR () HZ AR,
RAVFCAHBF TR R (), ARB ALK R (D).

1 AT REMREE D, M‘ﬁ
€= (C11Cay*tyCy) = zzk”/}

i=] k=]

_EA()\ 0,i = 1,2, ,n, k=1v2|"'9n
A:') == (0709"';01&'“)\09"'10)|ﬂﬁjrﬂﬁ(3) %ﬁﬁtﬁg% ‘S‘ ﬁ



P EHEHEBE <59

§=510S5& - &S..
QO XEERERNER.

EH 2, TFLREMUMEEQ) -

@) X S FHIE—ITR 6 5H,

Af + A5+ -+ AL <R

ﬁge = (enezv""&)

W & wRHRMZE Q) W—NBILR.

G FGO WEBABL M FE—{E s, EHRRE AX +A4X, + -+ A4X,. <
b RELEH—AAR ARPHIER (a,2) < B, F (a,8) > B LR

K={z|(AP,x)<K<bY i=1,2,n,k=1,2,,n,(a,z) <8}
R~ ¢ = (crhepyoerye) MIEN K K3 A B HES R A e a0 ch B8 i 5
BEUH. Rt ENEEEERX KR T Dantzig — Woefle SHRFT .

$ 2 BIERNAE

#O

MaxZ = z, + =, + 2y, + ¥,
z, + 3z, < 30
2z, + x, <20
» <10

» <10
Nn+3»<15

z, + 2z, + 2y + ¥ < 40

%22 0,5,y =20

7 SE AR LR R I R R B B T3S

MaxZ, = z, + z, = (1,1)
I + 3z, < 30 a, = (1,3)
2 + 2, < 20 a, = (2,1)
I12Xy 2 0

¥ = %a, + %a,,;ﬁ}iﬁﬂtﬁzﬁ T = (6,8)

© WEEH ‘KR BEL . BH.P348



* 60 ¢ O R.LUERUFEETHENS B

MazZ, =y, + y, ¢ = (2,1)
n<10 b = (1,0
¥ <10 b, = (0,1)
n+ty <15 by = (1,1
Yy =0

REMRMR »° = 10,5 He, =5+,
&&= (z",y") = (6,8,10,5), RAEBHIERE —PTHAE .z, + 2z, + 2y, + 3. <

0, E
z! 4+ 2z + 2y +y; = 47> 40
x, + 31, < 30
2x, + z, < 20
TR 7 <10

»wty <15
+2x, +2y, +y, <40

M —AHH K R
1

+ ¢,

_— - O O

— —- o ©

(o]

Lol A V]



PEEENZ

e 6]

TR
' z + 2z, + 2y, + 3, = 40
2z, + x, = 20
M =10
N + Y2 =15
. 25 10 .
*&ﬁw%ﬁ? = (?!?)1015) ylttﬂ-‘j')
MaxZ = 1%)

2 % X #

(11 B =, 0005 EE, 8%%57],2,4(1987),53 77

[2] Vasek chvatal,Linear programming., W. M Freeman and Company, P425

(3] EWE RO, KR, AR IR, P339,



